Math 180: Approximating areas, Reimann sums
1. Estimate the area under the graph of 
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 from x = 0 to x = 3 using six approximating rectangles (n = 6).  First use right endpoints, then use left endpoints.  Sketch the rectangles and shade the area you are finding.  

[image: image1.wmf]1

4

)

(

2

3

+

+

-

=

x

x

x

f

      Shade area using right endpoints

Right Sum = _______________

     

      Shade area using left endpoints

Left Sum = _______________

     

How would you approximate the area using the midpoint of each interval?

Midpoint Sum = _______________
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